Y% D & 1-&m pbOcheck2.2
Al 53

2021 12 H 11 H

1 254 -d)RyARERk
1.1 &Eh

0" = 5 0ul6"0"0 — ("6")9)

= 5 {(0,6)0" 6 + 6"0,0" — (9,0"9")6 — (9"6")3,0}

— 80,06 — (0,0"0)6)
— {970 — 6"}
=0

dQ d 3
E—%/Vd xp(x,t)

9p

_ 3 1

—/Vd wat(w,t)

:/ dxV - j(z,t)
14

z/ dSn - j(z,t)
v
=0

(0,,0" + m?)¢(t, z) = (9,0" + m*)Ne Pt = (~E? + m?*)Ne "F* =0
E=+m
_L *00 0 1%
p= 5006 — (8°67)0)
— 2L{Z\]*eiE't(_il?)]\fe—iEt _ (N*Z-EeiEt)Ne—iEt}
m

_ EINP
B m

ZE 3R

(1] IWABANE T5OR -~ e HlE 2 iz U Tl (2£3E,2014, ISBN9784785325114)

1



